AEAFEMKES-MHRBERAETHR - BH kTR

R THI TH B
= ﬁ%ﬂ%ﬁ
% I B TEmG WMEHE | SEEs | BmEs T
(FT5K)
B3 EMETE RER T 2 % 8 31 800
Al sf = 5 & 5900
= R
it
HEr 5 B Wi\ = BRZ 3 %8 E 108 25950
E%ﬁgﬁim)
REW = 2 & 8 31 400
SEHE P Erdl B et - MH B R 16 700
MENEE | HEHEEMRNIL L S 4 800
2 i FE M F N
FEE - 8 J/ 116 550

FE— ORI I B 57 B L R

o

P& B ATl 22 -

REBRELEMEEY ARG EOVE TEZM > 8

HE R SRR R~ W AR R B R T S S O 1T S O
HEH  #BEFEEAKEME  BEEE  DIRETR
ERRE  BlanaEE - 2~ K HEK ARG -~ BKIRE - B-
EDCEIN 3 i

Bk =

(£ 175 BE AL -

Tt 7R

Bl ) = AU TE I REAE 4 700 S 50K o TEEHEEAE4Y 100

st VU ¢ RZE B e i A MR o MR T RO S OK o B — R
NERBHE -




